Dec. 5" and 6™ NOTES/ASSIGNMENT 5.4 Sum and Difference Formulas
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cos(a + ff) = cosa cos B —sinasin tan(x

cos(ax — f3) =cosa cos f+sinasin B

Simplify each Expression.
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Find the exact value of each expression. (no calculators)
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Evaluate.

24
25. If sinx == (xisin QuadrantI) and sin y = 2— (y is in Quadrant II), find sin (x +y).

6m()(+%_) 5\2 xco.gfj + C0S xjiﬁcj

~-(- - = 25 5 Q”S‘
_3_ - M,.
Sin X = z ﬁmtév Z}S.h s
Cosx=% Cos == = +5
i 25
|
26. If Sinx=—_§— (x is in Quadrant IIT) and sin y = — 5 (y is in Quadrant II), find cos (x — y).
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